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function calculateVectorTrendline(priceData, period) {

// 1. 7t4 GIO|EE HE=Z HEt
let vectors = [];
for (let 1 = 1; i < priceData.length; i++) {
let priceChange = priceData[i].price - priceData[i-1].price;
let timeChange = priceData[i].time - priceData[i-1].time;
vectors.push({ magnitude: Math.abs(priceChange), direction: Math.sign(priceChange),
slope: priceChange / timeChange });
}

// 2. O|&X| ®MAH 3 Hetst
vectors = removeOutliers(vectors);

// 3. 7t "z HEH AM (FE 7l
let weightedSlope = calculateWeightedSlope(vectors, priceData.volume);

/7 4. FNY EE 8 gk

return generateTrendline(weightedSlope, priceData);
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ARIMA, Prophet, Wavelet
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CNN, LSTM, Transformer
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